(x-2)(x-3)(x+4)(x+5)=1320
(x-2)(x-3)(x+4)(x+5)-1320=0
(x-2) (x+4)(x-3)(x+5)-1320=0

(x%+2x-8)(x-3) (x+5)-1320=0

(x2+2x-8)(x2+2x-15)-1320=0

3aMeHa MePEeMEHHBIX.

ITycTthb t=X2+2X
B pesynbrare .

( )

(t2-23t+ 120)-1320=0

t2—23t+120—132020
2 _
t7-23t-1200=0
AUCKPHUMHWHAHT.
D=b-4ac=(-23)%-4-1(-1200)=5329
t _-b\D
1,27 2a
2373 23+73

LY=o =B LT
OTBeT BCIIOMOTATEIHHOTO ypaBHEeHUS: t=-25;1=48

[Tonyunnu nBa ypaBHEHHUS, pelIaeM Kaxa0€

x2+2x:-25
x2+2x:48
1.
x2+2x=-25
x2+2x+25=0

AUCKPHUMHWHAHT.



D:b2-4aC:22-4- 1:25=-96 Her pemeHUiA.

x2+2x:48

x2+2x-48=0
I[I/ICKpI/IMI/IHaHT.
— 2 fan—? _
D=b"-4ac=2"-4-1(-48)=196
_-b+\/D
*12~ 2a
-2-14 2414

1= 21 8X%T o

OTBET: X=-8;X=6



